oo = == == ==[1[]

00 00000001120000000000000
0oO@oooon)

goo:

000 : 2023/5/5 15:31:23

oood
000000011204013000000112003309050 0 0 000000000 0O0O112040210000
0 011200026050 0 0O 0O

oooooooooooo

(OdoooooooooooDoooooooooos3gd

(0 oOooooooooooooooooa
(OHoooooooo2000001120501000060100 00112011010 0011030000
(HOODOOODOODDOODOODOOO0ODOO0O Ch€tp://tyckids.ymps.tyc.edu.tw)[
(HOOooOooDhOoDoOooDoooDOoobOoopoooooobgoseooOd
0000000000000 0000A00DOOD0DOODOO0ODO ((03-47549290 O 8300
Bdino@ymps.tyc.edu.tw)O

http://163.30.202.2 2024/5/5 7:38:43 - 1


http://tyckids.ymps.tyc.edu.tw
mailto:Bdino@ymps.tyc.edu.tw
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

